Question 25

25 Using a compass and straightedge, construct the line of reflection over which triangle RST reflects
onto triangle R'S'T". [Leave all construction marks. ]
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Score 2: The student had a complete and correct response.
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Question 26

26 The graph below shows AABC and its image, AA"B"C".
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Describe a sequence of rigid motions which would map AABC onto AA"B"C".

qusla;\e. AABe IebF 4 miks amd down 2 ¢nits
Pollowed by a reflechon over Ine X=-2

Score 2: The student had a complete and correct response.
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Question 27

27 When instructed to find the length of F] in right triangle HJG, Alex wrote the equation

H H
sin 28° = 27{ while Marlene wrote cos 62° = 27{ Are both students’ equations correct?
Explain why.
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Score 2: The student had a complete and correct response.

Geometry (Common Core) - Jan. *17 [13]



Question 28

28 In the diagram below, tangent DA and secant DBC are drawn to circle O from external point D,

such that AC = BC.
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If mBC = 152°, determine and state mZD.
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Score 2: The student had a complete and correct response.
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Question 29

29 In the diagram below, GI is parallel to NT. and IN intersects GT at A.

Prove: AGIA ~ ATNA
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Score 2: The student had a complete and correct response.
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Question 30

30 In the diagram below of isosceles triangle ABC, AB=CB and angle bisectors AD, BF, and CE
are drawn and intersect at X.
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If m/ZBAC = 50°, find mZAXC.

Score 2: The student had a complete and correct response.
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Question 31

31 In square GEOM, the coordinates of G are (2,—2) and the coordinates of O are (—4,2).
Determine and state the coordinates of vertices E and M.

[The use of the set of axes below is optional. ]
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Score 2: The student had a complete and correct response.
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